Exam II; F4360; 11:00 Class; Spring, 1999


Name ______________________________

1.  Provide a short answer to each of the following (sometimes even one word):

a.  Under what conditions would decision trees prove useful in the capital budgeting process?

b.  Under what conditions could using the firm’s weighted average cost of capital lead to the incorrect acceptance of projects that the firm is considering undertaking?

c.  List three reasons that deciding which project(s) to undertake on the basis of payback may not increase the value of the firm the most.

d.  Assume you have just bought a put on Dell with an exercise price of $35 per share.  Sketch a graph of the payoff on this put.

e.  List three reasons that a board of directors may be ineffective in protecting stockholder’s interests.

2. Use the following information for parts a through e.  Opec Disarray Inc. is considering building a new web-based distribution facility for their petrol products.  The basic site could open today if Opec decides to proceed.  For each of the following (a through e), determine the impact of each on the after-tax, incremental cash flows to be used in the capital budgeting decision.  Throughout assume the marginal tax rate is 35%.  In each part use a “+” to indicate an inflow and a “-“ to indicate an outflow.

a.  Opec currently has excess production capacity at their Saudi manufacturing facility so that they can meet web orders for petrols without having to increase capacity.  This plant was built 4 years ago at a cost of $350 billion.  The facility is being depreciated according to MACRS (the 1986 tax act) and falls into the 7-year depreciation class. How will the after-tax, incremental cash flows in year 2 be affected?

b.  In order to create additional traffice to the Opec web site, Opec will pay America Online $10 million per year to be the exclusive petrol firm listed on AOL’s web site.  How will the after-tax, incremental cash flows in year 2 be affected?

c.  Opec expects sales from the web site to be $100 million in the first year, $350 million in the second year, and $580 million in the third year.  Production costs equal 30% of sales.  How will the after-tax, incremental cash flows in year 2 be affected?

d.  Once Opec opens its electronic commerce site, Seashell Petrols (a petrol retail firm) is expected to find another supplier of petrols in protest of Opec’s new direct sales initiative.  Each year, Seashell sold $250 million of Opec petrols (they were put into Seashell packages).  As in part “c”, production costs for Opec equal 30% of sales.  How will the after-tax, incremental cash flows in year 2 be affected?

e.  Due to efficiencies created by web-based sales, Opec estimates that they will be able to reduce inventory by $50 million upon openning the web-site.  Inventories will further fall by $20 million each year for the first 5 years.  How will the after-tax, incremental cash flows in year 2 be affected?

3.  Vexxon Inc. is considering building a “black goo rock” packaging facility near the Prince William Sound in Alaska.  These goo rocks will be sold to rock collectors, environmental groups, angry mobs who want to hurl burning stones, etc.  Vexxon estimates that the facility will cost $2.5 million to build and will generate net cash flows of $360,000 per year for 10 years.  If sales of the rocks don’t materialize, Vexxon estimates that it can sell the facility any time in the next 4 years for $1.6 million to the state of Alaska who will use it to store all of the idle fishing boats in the Sound.  Vexxon estimates that the beta of the project is 1.04 and that the standard deviation of returns on the project is 42%.  The risk-free rate of return is 4.421% per year compounded continuously (the effective rate on t-bills is 4.52% per year) and the market risk premium is 7.6%.  

a.  Is the project worth undertaking if Vexxon ignores the ability to sell the facility if sales don’t materialize?

b.  Is the project worth underaking if  Vexxon includes the ability to sell the facility if sales don’t materialize?

4.  Assume that you are considering purchasing bonds that are about to be issued by Yahoo On-Line of America but are concerned about potential conflicts between the bondholders and Yahoo’s stockholders. 

a.  Under what conditions might there be a conflict between what the bondholders and stockholders with regard to the investments that Yahoo undertakes?  Explain.

b.  What can you do to protect yourself against the potential conflicts you discussed in part “a”?







